A Similar Triangles A

ADFES ~ ARMT
DF _FS _ DS

“oF R
R mT KT .




1)Write the Similarity Statement
ii) Ratios

ii1) Fill in ratios
iv) solve for "x"

29.25X = 439.02

29.25X = 439.02
29.29 29,
X=15.0



Try h is ! ! Indicate the angles that are equal.

Solve for x .

a)




Try T his !
Solve for x ..
a) W

H 16

Indicate the angles that are equal.

NWED ~ DWHS
WE = ED = WD

WH HS WS
6.25 = _5

X+6.25 16
5(X + 6.25) = 100
5X +31.25= 100
5X = 100 - 31.25

5X =68.75
X=13.75



Find k. C

14

M 24

6.25 =

X+6.25 16
5(X +6.25) = 100
5X +31.25= 100
5X = 100 - 31.25

5X =68.75
X=13.75



Find k. c

1 NMCA ~ NTRA

M 24 m = % = m
R TR RA TA

_=_14 = 4

K 10

24K = 140

K =58
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